Energy and air emissions exercise
Bishkek, 10 September

Welcome to SEEALand National Statistical Office. We are keen to work together to compile our energy and air emissions accounts and compile indicators that inform climate change.
A lot of groundwork has already been done. We have already partially compiled the energy and air emissions accounts. 
Part 1: completing the energy physical supply and use table
The account has been mostly completed. We need to reflect the additional information below in the air emissions account (see tab “energy PSUT partial” of the excel)

1. Households also use fuelwood for cooking. According to the Ministry of Forestry, fuelwood is cut down by logging companies and households:
· Logging companies cut down 60 PJ of fuel wood
· Households also cut down 40 PJ of fuel wood. 

2. The country's airline companies operate worldwide. For that reason, they buy 6 PJ of jet fuel in foreign airports. 

Part 2:  Based on the energy account calculate the following:
1. Gross energy input for the country (which is (a)equal to energy from natural inputs plus (b) imports of energy products plus (c) energy from waste)
2. Net domestic energy use which is defined as the end use of energy products (including changes in inventories of energy products) less exports of energy products plus all losses of energy (losses during extraction, losses during transformation, losses during storage and losses during distribution).
3. The value added from ISIC A is 3.6 billion currency units. Calculate the energy efficiency of ISIC A in MJ/$.

Part 3: updated the air emission account with the information below
All relevant information has been reflected in the account shown in the  tab “partial air emission account” except for the use of fuelwood by households and the use of jet fuel as mentioned above. 
In addition, we have the following other activities that produce greenhouse gases. 
· Cement production which is part of manufacturing: 2,000,000 tonnes of cement were produced with emission factor of 0.6 tonnes of CO2 for each tonne of cement.
· There are 600,000 heads of dairy cattle which produce 150 kg of methane per head per year
Update the air emissions account to include the emissions from fuelwood, jetfuel, cement and dairy cattle. Note that:
· 1 TJ of jet fuel results in 72 of CO2 emissions
· Burning wood results in 104 KG of CO2 per GJ

Part 4: Based on the air emission account  calculate 1-3 below:
Additional information:
· 1 unit of Methane (CH4) has Global Warming Potential (GWP) of 25 units of CO2
· 1 unit of Nitrous oxide has GWP of 298 units of CO2
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1. Total CO2 emissions for the national economy (industries plus households) 
2. Total GHG emissions in CO2-equivalent unites for production activities (using GWP, only for industries)
3. GHG Emission intensity of ISIC A and for all production activities (industries). Value added for ISIC A is 3.6 billion currency units and for all industries is 245.68 billion currency units.
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